Total No. of Péges 7

EE301

fraiRe v ; ader)
Time allowed : /2 Hour]

Note :

2.

2016 |
POWER ELECTRONICS & DRIVES
l‘ \R I |

Roll No- : sassecseccsssesoenneey

[Sftrwaw 3% : 30
- [Maximum Marks : 30

(i) &g e & va wew gl SE P |

All Questions are compulsory and each question is of 1 mark.

(i) A e F e o @ Rt § st sa B A &

Only English version is valid in case of difference in both the languages.

iR &
(a)  Frafaa faw
(b) Frafem e

(© mmiﬁn%mm

(d) =5 v s

TEHLaR | ater i €
(a) ofem uRT ¥ e
(b) WMy
(c) e 4 % wAF
@ 7=

o HE WELAR, B A I H AR ¥

- gy G fear T & | ae wEw W
90° W X fFr wiaT € 1| I W

e g

@ XV, O T
Vo 1

(©) o | d ﬁvm

1

Thyrister is : .

(a) controlled switch

(b) controlled transistor

(¢) amplifier with hlgh rating
current

(d) high gain amplifier

In SCR, holding current is :

(a) more than latching current
(b) less than latching current
(c) equal to latching current
(d) zero

"Two same SCR connected in series

with load each SCR fire on 90°.

Voltage across load is :
2
(a) ;x Vo ®) Zero
\ 1
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UJT known as :

(a) voltage controlled device
(b) current controlled device
(¢) relaxation oscillator v
(d) none of above

The most appropriate method for pure
triggring of SCR is :

(a) Pulse control

(b) Bias control

(¢) Phase shift control

(d) Bias phase shift control

SCR can be turned off from on
condition ,

(a) zero gate current

(b) - -use of force-commutation

(c) -zero gate voltage

(@) break junctions

The best firing method of SCR is
(a By‘R’
(b) ByR-C

(c) ByUuIT

(d) By Pedestal Ramp

Output ripple factor of three phase

half wave rectifier is :

(@ 121 ® 06

(¢ 0.17 @ 048
Which rectifier has minimum
efficiency ?

(a) 6 phase

(b) 3 phase half wave
(c) 1phase full wave
(d) 3 phase bridge

The value of ripple factor of single

- phase half wave rectifier ;

(@ 157 (b) 121
(© 111 (d) 0.482
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A power chopper changed :
(@) ACtoDC
(b) DCtoDC
(c) DCto AC
(d None of all

In step-up choppér, source voltage is
V and duty cycle is o, then output
voltage is :

® = ® Vx(i-o
© T @ Vx(+a)

Which type of commutation used in
Jone’s Chopper ?

(@) Class A () ClassB
(¢) ClassC (d) ClassD
Inverter is instrument : |

(a) Change AC to DC
(b) Change ACto AC
() Change DC to DC
(d) Change DC to AC

Series inverter gives :
(a) sine wave

(b) square wave

(c) triangular wave

~(d) saw tooth wave

The heart of invertor is -
(a) Oscillator circuit
(b) Rectifier circuit

(c) Step-up transformer
(d) Filter

Thyristor used in mvertor circuit
should have

(a) Power handling capacity
dv . di
®) Maxlmum =-and at

(c) turn off time
(d) All of above
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Cyclo convertor is instrument to
convert: \

(@ DCtoAC

(b) AC to high frequency DC

(c) ACtoDC

(d) AC to low frequency AC

Which switch is used in low power
SMPS ? [
(b) MOSFET

(@) GTO
(¢) TRIAC (d SCR
Advantage of SMPS :

(a)  Stable output (b) Multi output
(c) ‘Smallsize (d) All above

In which AC stabilizer motor is used :
(@) Resonant stabilizer

(b) Electro-mechanical stabxhzer
(c) Electronic stabilizer

(d) All above

DC motor can be controlled
(@)  To change supply frequency

(b)" To change armature voltage
. () To change ripple of DC current

source

" (d) To increase field voltage

The speed of induction motor can be
reduced : ,

(a) Decrease supply frequency

(b) Reduce No. of poles

"(¢) Reduce rotor resistance

(d) Increase rotor resistance

. Atriacisa

(a) Four layer three terminal device

(b) Four layer three terminal three

junction device

(c) Three layer three terminal three
junction device

(d) Four layer two terminal three
junction device
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Diac is: o
(a) bidirectional switch -
(b) three terminal three layer device

 (¢) unidirectional switch

26.

27.
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. () OnlyonL

~ (d) three terminal four layer three

junction device
Duty cycle of chopper is :
7 .

In time delay circuit, delay time is .
équal to :

(a RLn(l-n)
® RC

©) RC ln(l—_liﬁ)

"~ (d None of the above

Time constant is depénd upon in
R - C circuit is v
(a) OnlyonR (b) OnlyonC

(d) RandC

Which type of Relay timer is used in
high power industrial appli¢ation ?
(a) SCR timer

(b) Transistor timer

(c) IC timer

(d) . None of above

Operation of Thyristor depends upon
(2) ‘o gate signal

(b) on feedback

(c) triggering

(d) None of above
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(i) e st w9 A o e A 1
' Solve all parts of a question consecutively together.
" (iii) mm####mﬁﬁq /-
Start each question on a fresh page. - -
(iv) ﬂ#w@#mﬁ##ﬁwﬁ#aﬁ#m#m? !

Only English version is valid in case of difference in both the languages.

1. () wEKFHE A s fifed |
- 'Write any three applications of an Inverter.
(i) SMPS ¥ =i§ =) o fefiad |
Write any four merits of SMPS.
(i) &R = o farr & 2 '
What is the principle of chopper ?
(iv) T urr & Ay arr wr R ¥ o
~ What is holding current and latching current ?
(vy P afifem Trite & wr aRad ¥ 2 |
What is meant by free wheeling diode ? (2x5)

2. (i) ' SCR & e Praror # RC qRue SgwT w1 g3 wHwed |

'Explain phase controlling of SCR using RC circuit.
(i) s TR T ) WEET @ UPS # Sroedt 3t e |

Explain working of UPS with neat circuit diagram. (6x2)
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What are control strategies for chopper ? Explain constant frequency system
control,

T Pt R fret qresiieadt 9 W o W weE ¥ W | |
Explain three phase to three phase cycloconverter with neat diagram. (2+4,6)

T Fe St it wres ooy amw o e ¥ e |
Explain circuit operation of a series inverter with neat circuit diagram.

T TR TS Pt ST Rt g3 SCR t wwdfefiy wwemed |
Explain the operation of SCR using two transistor analogy. (630)

WWW%SMPS Ft SEYOTE B @@= aRuy aﬁaa&m#mﬁ "
fafr= wrr wdl fave a8 w9 9t ot g |

Explain the operation of a boost type SMPS with neat circuit diagram. Also draw -
various current and voltage waveforms. :

sﬁaﬁﬁséﬁmaﬁaﬁaﬁa#m#m | |
With the help of suitable diagram, explam the working of electronic stabilizer. (6x2)

B, e et ¥ SCR T Wi freor fafr & v Prdaror ) ol |

Explain speed control using SCR for D.C. shunt motor by field control method.
Tt S E. TR B T aue S W werE 9 T

With the help of neat circuit diagram, explain transistor d.c. timer. (6x2)

TF B-WHR % 99T it 9RYe S H 707 €9 ¥ THm |
Explain circuit operation of a B-type chopper with waveforms.

UIT % s fovsnfr <t & o o sordomomedt =t e 1
Explain working of UJT as a relaxation oscillator. ’ 6x2)

8 fr o @ Rret at w it oot ffterd -
Write short notes on any twoe from the following :

®

(i)

SCR HAFR §H8T
SCR parallel inverter
T TR F RGN

Bridge-type cycloconverter

(iii) Tt RS

Servo Stabilizer : {6x2)
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